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All other traffic from the Web destined to 172.19.20.50 is accepted.
All other traffic from the Web destined to 172.19.20.50 is discarded
The HTTP traffic destined to 172.19.20.50 is accepted.

The HTTP traffic from source 172.19.20.50 is accepted.
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Correct Answer: BC

QUESTION 16
Click the Exhibit button. Referring to the exhibit, which statement is correct?

[edic]
user@routerd show system authentication-order
authentication-order [ radius tacplus ];

A. The device will attempt to authenticate using the local database if RADIUS and TACACS+ are
unresponsive.

B. The device will never attempt to authenticate using the local database.

C. The device will attempt to authenticate using RADIUS and TACACS+ at the same time.

D. The device will randomly select the authentication method used for each new login attempt.

Correct Answer: B

QUESTION 17
Which statement is true about using custom login class permissions?

If you allow and deny the same command, the command is allowed

If you allow and deny the same command, the command is denied.

If you allow and deny the same command, Junos OS will randomly choose the action
If you allow and deny the same command, the Junos OS will fail the commit check.
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Correct Answer: B

QUESTION 18

Click the Exhibit button. You are capturing logs to troubleshoot an issue with 1S-IS; however, the
logs are increasing in size too quickly. Referring to the exhibit, which configuration statement

would solve this problem?

user@router$ show protoceols isis display set
set protocols isis ¢

set protocols
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set protocols isis traceoptions flag hello detail
set protocols isis traceoptions file files 10
delete protocols isis traceoptions flag normal
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Correct Answer: A

QUESTION 19

delete protocols isis traceoptions file is-is-logs.log

Click the Exhibit button. Referring to the exhibit, if the router forwards traffic destined for

192.168.77.29, which next hop will be used?

ccute 192,168.77,0/28 nauv=hop 10,10.0.2)
A. 10.10.1.2
B. 10.10.11.2
C. 10.10.0.2
D. 10.10.20.2

Correct Answer: C

QUESTION 20
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You want to temporarily apply a candidate configuration to the active configuration and
automatically roll back after 10 minutes. In this scenario, which command will accomplish this
task?

A. commit at

B. commit confirmed
C. commit check
D. commit

Correct Answer: B

Explanation:

[edit]

user@host# commit confirmed

commit confirmed will be automatically rolled back in 10 minutes unless confirmed
commit complete

#commit confirmed will be rolled back in 10 minutes

[edit]

user@host#

https://www.juniper.net/documentation/us/en/software/junos/cli/topics/topic-map/junos-
configuration-commit.html

QUESTION 21
Which two statements about the configure exclusive command are correct? (Choose two.)

A. The command excludes other users from editing the configuration.

B. The command retains all uncommitted changes when exiting exclusive mode

C. The command causes the loss of all uncommitted changes when exiting exclusive mode
D. The command allows multiple users to edit private copies of the configuration concurrently.

Correct Answer: AC

QUESTION 22
What are two benefits of class of service (CoS)? (Choose two.)

A. CoS can increase the performance of a slow network.
B. CoS can manage traffic congestion.

C. CoS can prioritize latency-sensitive traffic.

D. CoS can increase network bandwidth.

Correct Answer: BC

QUESTION 23
Which two Juniper Networks products are available in virtual machine (VIM) format? (Choose
two.)

A. VvSRX
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B. vIDP
C. vPTX
D. vMx

Correct Answer: AD

QUESTION 24

Click the Exhibit button. A packet destined to the 172.27. 102.65 IP address is received by the
ge-0/0/1.0 interface on your Junos device. The input firewall filter shown in the exhibit is applied
to the ge-0/0/1.0 interface. Which two actions are performed in this scenario? (Choose two.)

The packet is logged
The packet is accepted
The packet is counted
The packet is discarded.
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Correct Answer: BC

QUESTION 25
Which address correctly represents a valid abbreviation for the
2bfc:0000:0000:0000:0217:0000:fe8¢:5¢85/128 IPv6 address?

A. 2bfe::217:0:fe8c:5¢85/128
B. 2bfe:0:217:-fe8c:5¢85/128
C. 2bfe::0217::fe8e:5e85/128
D. 2bfe:0:217:0:fe8e:575/128

Correct Answer: A

QUESTION 26

Click the Exhibit button. You are creating a new routing policy on your Junos device. You are
currently receiving multiple routes within the 10.10. 10.0/24 subnet from the same upstream BGP
neighbor. Your policy should only allow the 10.10. 10.0/24 route and reject all other routes within
that /24 range. Referring to the exhibit, which route filter match type would satisfy this
requirement?
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exact

orlonger
prefix-length-range /24-/32
longer
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Correct Answer: D

QUESTION 27
You are creating a route filter that will match the network address of 192.168.64.0/24. In this
scenario, which configuration statement will accomplish this task?

A. from route-filter 192.168.32.0/24 longer

B. from route-filter 152.168.128.0/24 orlonger
C. from route-filter 192.168.64.0/24 longer

D. from route-filter 192.168.64.0/24 orlonger

Correct Answer: D

QUESTION 28
Which layer of the OSI model does a router use to make forwarding decisions?

A. Layer3
B. Layer4
C. Layer5
D. Layer2

Correct Answer: A

QUESTION 29
You are asked to configure a Junos device to perform regular configuration backups. Which
feature will you configure under the [edit system) hierarchy to accomplish this task?

A. archival
B. backup-router
C. syslog
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